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o IEFREEE  WZ-X(F) 20 - 525 (—#%) o BERME T-6
o Bl Itk 200 x L x25 o JEFEIE 100 mm
o [FAMAE 1EETER o Ry 4 18— WXI-25x5x3. 5
fFEE %
* WE o NTYLTIN—
- P& — i fnf T P = 24 kN s EwyF Ps = 33 mm
- FERRH i = 0.4 -MEEE Z = 381 m’
- FHEEEBELEEE P, = 33.6 kN
- HEEthETE axb =200 mm x 240 mm
- X[ EEEf Q= 150 mm
ATV IN—AAFER 4 = 200 mm
W E R
CRFYUGN——KEEMBL LTEHET S,
RIS H op, = 0.180 KkN/mm’
W
T Q1 1
e fIlFE— AT M
 PixPg
- axb
336 x 33
] *W— 0.023 kN/mm
M :%xw X 0 x (20 — 01 ) (0>00 0,=0)
:%X0.0ZS x 150 x (2 x 150 — 150 )
= 65.0 kN-mm
otk Hh: o
M 65.0
———— = <
o 7 381 = 0.17 kN/mm2=o0ob
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o IFEFREE WZ-X(F) 20 - 525 (11/3-) o ERAME T-25
o BE STk 200 x L x25 o JEFEIE 100 mm
o HRHME  tEMER o R71)24 13- WX1-25x5x3. 5
L)
o fATE o NFUIN—
- i — iy B P = 100 kN -EvF Po= 33 mm
- FEEHR i = 0.4 - BTE{R %K Z = 381 mt
- HEEEELETE P, = 140.0 kN
- BRI axb=200 mm x 500 mm
- XEEHH Q= 100 mm
RTYUTNR—FAFERE 4 = 200 mm
CRFYDGN——KREBMRE LTHET S,
- HAIEH op = 0.180 kN/mm?
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_ PixPg
W= axb
_140.0 x 33 _
W —W— 0. 046 kN/mm
M=%XWXQ1X(2Q—Q1) (0,> 0/ 0,=10)
=%x0.046 x 100 x ( 2 x 100 — 100 )
= 57.8 kN-mm
oL AhA: O
M 57.8
—_— = <
o 7 381 = 0.15 kN/mm2=ob
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